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In[1]=

xRl —F-OEE:

O dhid

ekoch= {0, =, -, 0};
gemn rgege U
SO

0. 2.0 -Z, o)
genecross = {0, g0 -5 0
L= ¢+ OChfd

i

={0, —-%;
genec = { 2}
<P SiRO—8E;

0 50T S0 T ),
genepeano{,z,,z,,z,,z,,
Eatie il

1-0, 2,0, -2, %, 0,2, 0}
gene Rt T Tl AL

2 a72% —ihig
s
eninkowski = {0, — . 0};
gon (. 2.0

T e 2% —ghid
2 2
genesierpinski = {0, 3™ o, -3 0}:

£ (22R7)

m I T T
g‘ene2={§, -3 3 E},

£ (22R7)

T

FL 0
gene3 = {E' e E}a

Inf20]:=

¥ x 3l — 5 — OFR - RABESIOES:

Clear[f]

generator = gemekoch

glen = Length[ generator]

f[list_] := Flatten[Table[list+ listfik]]. {k. 1, glen}]]

Dut[z2)=
DRI

Out[z3]=

In[25]:=

P xRl —F-ERESCERL IOy B
Clear[gpx. gpy]
gpx = Table[D, {glen+1}]:
gpy = Table[0, {glen+1}];
For[i=1, iz glen, i++,
gpxli+ 10 = N[gpx[ill + Cos[generatoril1]:
gpyli+ 11 = NLgpy[ill + Sin[generator§ill]1]
1
ListPlot[Transpose[{gpx, gpy}]. AspectRatio — Antowatic, PlotJoined — True] ;

0.8
0.&
0.4
0.z




In[31]:=

REEESHOEESLO O -

repeat = 3;

inclinationlist = Nest[f, generator, repeat];
ListPlot[%]:

E0 100 ico 200 250

In[28]:=

iR BERIORER~ O

Clear[px. py]

ilen = Length[inclinationlist]

px = Table[D, {ilen +1}];

py = Table[0, {ilen+1}];

For[i=1, iz 1len, i++,
pxli + 17 = N[p=[ill + Cos[inclinationlistdiNlll;
pyli+ 1] = N[py[il + Sin[inclinationlist il]]

1

Ot [37]=
256
In[4H1]:=

EHLEZZZINOT A
ListPlot[Transpose[{px, py}]. AspectRatio - Automatic, PlotJoined — True] ;
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len = Length[list];
px = Table[D, {len +1}]:
py = Table[0, {len+1}]:
For[i=1, iz len, i++.
pAlli + 11 = N[pxl[ill + Cos[listhill // n2x]]1;
pyld + 11 = N[py[Iill + Sin[list[i]] // n2x]]
1
ListPlot[Transpose[{px, py}]. AspectRatio— Antomatic, PlotJoined — True, Axes — None];

}

HRETEIFOURL
charalist- {"a", "b", "c", "d", "e", "g", "h", "n", "p', "g", "r', "s', M', "', vwr, "gr, 190, "3, 1T, guy

IR — 7 O5dides B>
cs[1] = amp["cs/a"];
cs[2] = imp["cs/b"];
cs[3] = imp["es/c"];

Rl 57— 7 O5RIAY (FBEF—)
Fh[1] = imp["fh/a"1;
h2] - imp[" fh/b"];
fh[3] - imp["fh/c"];

22®0U 2 B SREC2ERMNE kS
eval[listl_, list2 ] := (Mod[listl-list2, 0.5, -0.25]) ~2 // Total

i - FREF—2OThThOFEEHETETT S
TableForm[ Table[eval[fth[rm], cs[xm]]., fxm, 1, 20}, {rn, 1, 20}]]

Bif - FREF—FOThPhoFHEEERTRTTS
ListDensityPlot[Table[eval[ th[xm], cs[tn]], {xm, 1, 20}, {wn, 1, 20}1];
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len = Length[list]:
p# = Table[D, {len+1}]1;
py = Table[0, {len +1}]:
For[i=1, iz len, i++.
pxli + 111 = N[px[[ill + Cos[1isthill // n2x]];
pyli+ 10 = N[py@ill + Sin[list@iQ // n2x]]
1
ListPlot[Transpose[{px, py}]. AspectRatio — Antowmatic, PlotJoined — True, Axes — None];
}

HERETEIFOYRL
charalist= {"a", "b", "c", "d", "e", "g", "h", "n", "p", "g", "r', "s', W', "', wr, "gh, 19, 13, 170, wguy

[RA>— 7 O5RMAy B> —2)
cs[1] = imp["cs/a"];
cs[2] = imp["cs/b"];
cs[3] = imp["cs/c"];

> -5 ORHAH (FHEF—F)
fhi1] = inp[ " fh/a"1;
hi2] = dnp[ " fh/b"1;
£h[3] = dnp["$h/c"];
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